

Revised Purchase Order



Sales Tax Exemption

Prairie View A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of the Prairie View A&M University.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

Purchase Order			
Purchase Order Date	PO/Reference No.	Revision No.	Revision Date
Sep 15, 2022	AB0747332	3	Feb 3, 2023
Contact instructions for questions regarding this Purchase Order: If Buyer Contact information is listed below, please contact the Buyer. If not, please contact the Customer.			
Buyer Contact:			
Buyer	Buyer Email	Buyer Phone Number	
KJW - Warren, Kamiah	kjwarren@pvamu.edu	936-261-1914	
Customer Contact:			
Name:		<i>Christopher Potter (Inactive)</i>	
Email:		CJPOTTER@PVAMU.EDU	
Phone:		+1 936-261-1431	

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Prairie View A&M's Department of Procurement and Disbursement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Prairie View A&M's Terms & Conditions, which are available online: <http://www.pvamu.edu/pdsv/wp-content/uploads/sites/88/PVAMU-Ts-Cs-FINAL.pdf>

Supplier Information		Delivery Information	
Supplier Name	HENRY SCHEIN INC	Delivery Address	
Address	135 DURYE ROAD MELVILLE, New York 11747 United States	TAMUS Member:	05-Prairie View A&M University (05)
Phone	+ 1 800-472-4346	Attn:	CJ Potter
FOB / FREIGHT	Destination	Athletics	
Pre-Pay & Add	No	ATHL Administration	
Payment Terms	0, Net 30	Room	118
Contract Number - Header	<i>no value</i>	1600 Stadium Dr	
Contract Number - Line	<i>no value</i>	MS 1500	
Quote number		Prairie View, TX 77446	
		United States	
		Delivery Information	
		Required Delivery Date	
		Ship Via	Best Carrier-Best Way

Notes to Supplier

PO Clauses

Header	001	No Collect Freight Charges Accepted	Neither COD nor "Collect" freight or handling charges will be accepted.
--------	-----	-------------------------------------	---

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price

1 of 49	Tape Compression PowerFlex Elastic 2"x6yd Cohesive Purple 24/Ca	9633465	CA	29.86 USD	73 CA	2,179.78 USD
	Supplier Part Auxiliary ID CA_1					
2 of 49	Tape Compression PowerFlex Elastic 2"x6yd Cohesive Gray 24RL/Ca	8677134	CA	29.86 USD	50 CA	1,493.00 USD
	Supplier Part Auxiliary ID CA_1					
3 of 49	Tape Compression PowerFlex Elastic 2"x6yd Cohesive Yellow 24/CA	2665054	CA	36.35 USD	50 CA	1,817.50 USD
	Supplier Part Auxiliary ID CA_1					
4 of 49	Tape Athletic Victory Synthetic Fibers/Rubber 1.5"x15yd Cohesive White 32/RI/Ca	6811614	CA	28.63 USD	70 CA	2,004.10 USD
	Supplier Part Auxiliary ID CA_1					
5 of 49	Tape Athletic Adhesive Coating 1.5"x15yd White 32/Ca	1285850	CA	62.39 USD	10 CA	623.90 USD
	Supplier Part Auxiliary ID CA_1					
6 of 49	Tape Athletic Cotton/Zinc Oxide 1.5"x15yd White 32/Ca	3640414	CA	49.97 USD	15 CA	749.55 USD
	Supplier Part Auxiliary ID CA_1					
7 of 49	Tape Athletic M-Tape Cotton/Zinc Oxide 1"x10yd Adhesive White 48/CA	9719554	CA	60.72 USD	2 CA	121.44 USD
	Supplier Part Auxiliary ID CA_1					
8 of 49	Tape Stretch PowerFast Synthetic Fabric 2"x5yd Cohesive White 24/Ca	6810211	CA	26.66 USD	10 CA	266.60 USD
	Supplier Part Auxiliary ID CA_1					
9 of 49	Bandage Cover-Roll 4"x10yd Elastic White Not Made With Natural Rubber Latex 1/Bx	9119465	BX	11.53 USD	10 BX	115.30 USD
	Supplier Part Auxiliary ID BX_1					
10 of 49	Underwrap Athletic Foam 2.75"x30yd Self-Adhesive Purple 48/Ca	9773748	CA	46.71 USD	3 CA	140.13 USD
	Supplier Part Auxiliary ID CA_1					

29 of 49	Bandage Fabric Flex-Band Knuckle 1.5x3" Flexible Flesh LF 100/Bx, 24 BX/CA	2103966	CA	111.12 USD	1 CA	111.12 USD
	Supplier Part Auxiliary ID	CA_1				
30 of 49	Bandage Patch Fabric Flex-Band 2x3" Flexible Flesh LF 50/Bx, 24 BX/CA	2639527	CA	81.12 USD	1 CA	81.12 USD
	Supplier Part Auxiliary ID	CA_1				
31 of 49	Bandage Four Wing Fabric Flex-Band 3x3" Flexible Flesh LF 50/Bx, 24 BX/CA	6483961	CA	164.88 USD	1 CA	164.88 USD
	Supplier Part Auxiliary ID	CA_1				
32 of 49	Sponge Gauze Clinisorb Rayon/Polyester Blend 4x4" 4 Ply NWvn Sterile LF 2x50/Tr, 12 BX/CA	1200685	CA	34.32 USD	1 CA	34.32 USD
	Supplier Part Auxiliary ID	CA_1				
33 of 49	Sponge Non-Woven Cotton 4x4" 4 Ply Non-Sterile LF 100/Pk, 20 PK/CA	1004420	CA	78.80 USD	1 CA	78.80 USD
	Supplier Part Auxiliary ID	CA_1				
34 of 49	Tape Protective Hex Skin Nylon/Foam 4"x3' Adhesive Black 1/RI	1248006	RL	11.92 USD	5 RL	59.60 USD
	Supplier Part Auxiliary ID	RL_1				
35 of 49	Set Cupping 17 Piece 1/St	1263566	ST	70.41 USD	2 ST	140.82 USD
	Supplier Part Auxiliary ID	ST_1				
36 of 49	Introductory Set Therapeutic Instrument HawkGrips 3-Piece 1/St	5450039	ST	1,055.41 USD	2 ST	2,110.82 USD
	Supplier Part Auxiliary ID	ST_1				
37 of 49	Bandage Cover-Roll 6"x10yd Elastic White Not Made With Natural Rubber Latex Ea	9110006	EA	15.03 USD	5 EA	75.15 USD
	Supplier Part Auxiliary ID	EA_1				
38 of 49	Roller Therapy CanDo 36x6" Half Round Black X-Firm Composite Foam Ea	3920140	EA	11.10 USD	1 EA	11.10 USD
	Supplier Part Auxiliary ID	EA_1				

39 of 49	Roller Therapy CanDo 6x36" Round Black X-Firm Composite Foam Ea	3920136	EA	18.68 USD	4 EA	74.72 USD
	Supplier Part Auxiliary ID	EA_1				
40 of 49	Band Exercise Thera-Band 25ydx4" Green Hvy LF 25yds, 12 EA/CA	2616458	EA	52.82 USD	2 EA	105.64 USD
	Supplier Part Auxiliary ID	EA_1				
41 of 49	Band Exercise Thera-Band 4 Blue X-Heavy Not Made With Natural Rubber Latex 25yds, 12 EA/CA	9033534	EA	59.79 USD	2 EA	119.58 USD
	Supplier Part Auxiliary ID	EA_1				
42 of 49	Band Exercise Thera-Band 25ydx4" Black Hvy LF LF 25yds, 12 EA/CA	9035350	EA	54.31 USD	2 EA	108.62 USD
	Supplier Part Auxiliary ID	EA_1				
43 of 49	Band Exercise SuperBand 40x2" Blue 120-175lb Rubber Ea	1205599	EA	31.31 USD	2 EA	62.62 USD
	Supplier Part Auxiliary ID	EA_1				
44 of 49	Band Exercise SuperBand 3.25" Gray 175-225lb Rubber Ea	1205601	EA	46.97 USD	4 EA	187.88 USD
	Supplier Part Auxiliary ID	EA_1				
45 of 49	Loop Band CanDo 15" Blue Heavy Ea	3925273	EA	4.20 USD	6 EA	25.20 USD
	Supplier Part Auxiliary ID	EA_1				
46 of 49	Loop Band CanDo 15" Black X-Heavy Ea	3923045	EA	4.44 USD	6 EA	26.64 USD
	Supplier Part Auxiliary ID	EA_1				
47 of 49	Loop Band CanDo 15" Silver 2X-Heavy Ea	3927629	EA	5.31 USD	6 EA	31.86 USD
	Supplier Part Auxiliary ID	EA_1				
48 of 49	Band Exercise Blue/Gray Fabric Grip Loop Ea	7110087	EA	14.42 USD	2 EA	28.84 USD
	Supplier Part Auxiliary ID	EA_1				

49 of 49	Strap Stretching 72" Green With 10 Loops/Poster Ea	7780046	EA	17.51 USD	3 EA	52.53 USD
	Supplier Part Auxiliary ID	EA_1				
Total						15,297.36 USD

Billing Information	Billing Address
<p>To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail vendorhelp@tamu.edu.</p> <p>Invoice must include the PO/Reference number shown above.</p>	<p>Prairie View A&M University- Accounts Payable ***Do Not Mail Invoices*** Email invoices to Payables@pvamu.edu P.O. Box 519 MS 1311 Prairie View, TX 77446-0519 United States</p>